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Unit Circle and Right Triangle Trigonometry
Solve the equation if 0° < 6 < 360°.
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Using the given point, find the values of the six trigonometric functions.
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3. Starting at his mailbox, a boy walks 10 feet, in a straight line, and stops at a stop sign.
He then turns 90° to the left and walks in a straight line 25 feet across the street to the
next stop sign. What is the distance of the most direct route back to his mailbox? What
is the degree()of the angle formed at the mailbox? The angle at the second stop sign?
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4. Find the reference angle for each angle given below:

a) 127° b) 262° c) 285° d) 2.5° e) 5.47°
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Give the coordinate point on the unit circle that corresponds with the given angles.
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Sketch the angle,and then find the reference angle.
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Identify one positive and one negative coterminal angle for each:
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Convert each radian measurement to degrees:
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Evaluate each trigonometric ratio:
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22. Find the value of cos 8 if sin 8 is equal to r and lies in quadrant IV
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In which quadrant(s) will the following trigonometric functions be positive?

23.sine 24, tangent 25. cosine
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Convert each measurement to radians (in terms of ).
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